AddSub-Neg-L3 Set1

Question 1 [25 marks] Question 2 [25 marks]
0: (=10) + (=7) =-17 0: (=8)+(—-9)=-17

(-1 +(-1)=— 1. 1545 =

2 (—16)+14=__ 2 (—4)+(-12)=
53-8=__ 5 18— 9=

e T+4=_ 4 (-18)+(-11)=_
s(-1)—12=__ so(—14)+2=__

6 114+ (=5)=__ 6 14— (—16)=__
6 (-3)=__ nl4—(—20)=___

g 17— (—14)=_ s 11419=__
020~ (—8) = o (—15) —8=__

10: 2 -9 = 10: 0417 =

1 (—13) 4 (—18) = 13— (—14)=__

12 1—(-4)=_ 12 (—6)+ (-14)=__
3 l4+1d=_ 3 (—15) -5=__

o l4+4=_ 15— (-2)=__

15 20-3=___ 5 A+19=_

16: 243 = 16: (—18) — 10 =

(-1 (1) = (1) = ()=
s (<17 —(=3) = s 17— (—4) =

9 12-14=__ 19: 10 — 4 =

20: (—6) +2 = 20 (—6) — (=19)=___
o1 (—10) — (—14)=__ o 15— (—18) =

2 (1) +(~-16)=__ 2. 15— (=10)=__

2 24 (—=15) = o3 174+ (—17)=

o1 (—3)—18=__ o4 (~9)4+18=__

5 T—8=__ o5 (—14)+8=__
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AddSub-Neg-L3 Set1

Question 3  [25 marks] Question 4  [25 marks]
0 (—8) = (-9) =1 0 (—18) +3=-15
Ll (-8) = 10— (-17)=
23-T=__ 2 19 +10 =
5 11414 = 3 (—16)—(—1)=
() ()= e (-3)-2=__
5o (C1) 4 (-18) = s (—1)—20—
6o (—8)—17T=__ 6 20— (-18)=
n(=6)—12=__ n0-8=__
g 17+ (—-18)=__ s 10+ 17 =
o 1—(-200=__ o (—18) = (=10)=
0 9F9=_ 10 (—15) + 18 =
w3-9=-_ (1) (-1 =
2 194 17T=_ 2 19— (=2)=
B9 (-5) = 3 (—19)—14=_
w(-3)—6=__ w6 ()=
A= (2= 15 0+9=
o 10— (=)= o (<19)+(-12)=
7 (—18)-3=__ (184 9=
8 04 (—8) = o 1T 41l=_
10 2 — (—12) = 9 (<6)F19=__
20 (—18) — (—14)= 200 (<T) —(-3) =
2. (=7)+(=15)=__ 21: (=7)+16=___
2 (<6) +3=__ o l4d=_
29— (—18)= 2 17—12=_
2w 17— (=T)= 2: (—12) —8 =
2 13— (—18) = 25 (1) 4 (—14) =
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Question 5 [25 marks] Question 6 [25 marks]
0: 6+ (—12) = -6 0: 14 —20 = -6
L6-18=__ 1 (—18) — 0=
o (—20)—20=___ 2 7+ (—10) =
2 4+16=__ 3 (—8)4+7=
6 (-1 +10=___ 58— (—1)=
5 (—13)—14=__ 5 10+0=
6 16+1=__ 6: 14+0=
(=19 —2=__ 7. (—19) —4 =
& (-16)—15=__ s (—15) — (—14) =
04— (=20)=__ 9. (=3) —12 =
01— (-14)=__ 10 12— 14 =
w14 (-19) = 1 (—10) — (=3) =
2 (=6 + (-T) = 12 146 =
13 (=8)—-b=__ 13: 144 (—1) =
4 9-l4=__ 1412 — (—11) =
15 16-9=__ 15: 16 + (=3) =
6 10+ (-1)=_ 16: (—8) +20 =
e (—I) (-9 = 1718 — 4 =
s 143=_ 15 18 — 8 =
19: 54 (-18) = 19: (—6) + (—6) =
20 (—9)+(=5)=__ 20 (—18) — 18 =
o 8—19=__ 21 (—14) — (=5) =
220 -T=___ 22: (—3) 415 =
2 6+19=__ 23: 18 + (—13) =
2 (—10) 4 (—18) = 21 (—12) — (—18) =
% 4+20=__ 25 5 — 17 =
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AddSub-Neg-L3 Set1

Question 7 [25 marks] Question 8 [25 marks]
0 (—4) — (=19) = 15 0 18—1=17
l-16=_ 1 0+ (—9) =
2 844 = 2 (~15) = (=9) =
5 20— (2= 3 20— (-T)=
17— (-9 = e (-12)45=__

5 19— (-16)= 5 T4 (—19)=
6 11 —8= 65— (—7) =

o (-16) — (—12)= r(—16) 4 (—4) =
8 (=8) = (6= — 8 (=) +(-8)=—
o 11— (—19)= 0 20— (-14)=__
0 (<16) 1= 0 A (—1) =
(=17 —19=__ (=) -1=__
o (<6)+12=_ 2 64 1d=_

13 64 (—12)= 13 (=7) — 8 =

w8 (—12) = e (—6) — (—6) =
5 (<9)—10= 5 (—16) +17=
o (—13) —T= o (=) —8=___
7194 (~15) = 7 (<5 —6=_

15 (<15) = (=9) = s (<3 —1l=—_
o 24 11=_ o 154 (-13)=

20: 3 —12 = 20 6—1=
o 13— (=5) = 21 9 — (—15) =
2 TH(-13)= 2 (<19) = (=)=
2 11— (—6)= 2 (<B)42=__

s (<) —1=__ o 1= (=20)=
2 19— (—10)= 2 184 (—1d)=

007 7 September 2014 4



AddSub-Neg-L3 Set1

Question 9  [25 marks] Question 10 |25 marks]
0: (—=3)+18 = 15 :3-0=3
1 (=7)+8= 1 (—16) + 6 =
2 10-15=___ 2 T+3=
3 3+14=_____ 3 114+7=
4 13+1=_ 4 18 —8 =
54+19=__ 5 2+ (—9) =
6: Hh—(—-200=__ 6: 15— (—5) =
n2-12=__ 7. (—15) + (—19) =
& (-6)—3=__ s (—13)+10 =
o (=6)—4=_ 0 (—12)+(—1) =
10: 8—16=__ 10: 5+ 15 =
1w 10-9=___ 11 (—20) +5 =
122 54+ (-20)= 122 (=2) — 7=
13: (=13) + (=7) = 13: 6 =95 =
 (6)+1=__ 14: 34 1=
56— (-7) = —— 15 (—6) + (~11) =
6 (—19)—11=__ 16: (—=8) — (—17) =
17 (—20) — (—19) = 1 (—6) — 13 =
18 (=16) = (-19) = — s (—=2) +(—11) =
19: (=2) = (-9) = — 19: 20 +2 =
20 (=2)—15=___ 20: (—2) 49 =
o1: 04+ (—=8) = 21: (—18) + 15 =
22 18 —9=__ 29 6 —4 =
23 (—18) —4=__ 23: 2+ (—4) =
21 1+ (—16) = 24: 20 — 17 =
25 164 (—18) = 25: (—10) + (—4) =

007 7 September 2014 5
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Question 11 |25 marks] Question 12 [25 marks]

0 (—9)+15=6 0: (—20) — 2 =-22

1T+ (-13) = 16— (-12)=_

2 (=3)—-12=__ 2 (=3 +1=__

3 (-11)+15=__ 35+ (-3) =

£ 204+ (-19)=__ 4 134 (—18) =

5 (—17)+3 = 5 (—18) +(=20)=
6 (—11)+(-3)=___ 6 (—2)—(-2)=__
(- +(-2)= . 0+ (=8) =

s (=3) 4+ (—14) = s (—11) — (=16)=
9. 17+ (—8) = 9 2—15=

0 (—10) = (=15) = 0 (1) 4+ (-12) =
mw (=3)+ (4= w (=5 +11=_

12: 15+ (—18) = 12: 19 — (=1) =

13 (—16) — (=14) = 13 (—19)+ (=15) =
 (=5)—-3=___ 14: 8 — 13 =

15 44 (—12) = 15 T—(=13)=

e (-1 +(-1)= 6 (—16)+11=___

17 12+ 8 = 15— (=11)=__

18 14— (—4)=_ s (-1)+18=__
92— (=15)=__ 9 17—-1=___

20 (=7)—18=___ 20: (—12)+13=___

2. 9+6=__ o1 (—19)+18=__
2 18~9=__ 2 (=2)—(-8)=_
23 (—16)+10=__ 23 (=3)—H=__

2 8+ (-9)=__ 00 18+ 15=___

0 (=) —1T=__ % 2—-3=__

007 7 September 2014 6



AddSub-Neg-L3 Set1

Question 13 |25 marks] Question 14 |25 marks]

0: (—15) +8 — 10 = -17 0: (—11) + 19+ (—=2) = 6

104+ (=18) = (-3)=_ i (=10) =24+ (=)=
23— (-17)-0=__ 2 (—4)+8+(-12)=

3 (—2)+3+8= 3 (—18)—6—(—-8)=__

£ 64+ (=15)—(=6)=__ 6 12164+ (-11)=__

5 14— (—4)+(=5)= 5124 (=3)— (=20)=
6 12—4+(-11)=__ 6: (—15) —(-8)+2=__

7 1-24(-9)=___ 76— (—19) — 19 =

§ 204+ 114 (-2)=_ s (—12)+2—(=12) =

o (—8)+10+15=___ o (—10)+ (—16) + (-19) =
10: 5+ (=10) = (-6)= — 10: 164+ (=3)+(-18) =
1 (—4) 40— (=17) = 16— (—18) 4 (=2)=___

12 (1) = (=20) = (=13) = 15— (- +(-T)=_____
13 (—10) +(=20) +(-3)= 13:2—16—(—16)=

1 (—18) + (=3) + (—-13)= 14: 64+5— 14 =

15 (—8)+19+(=15)= 15 (=7) =13+ (=11) =

6 (—1)—5—14=___ 16: (—18) + (=15) — (-8)=

i 7T+ (—-12) -9 = 1 18— (—1) — 10 =

18: 20+ (—10)+ (-2) = — 18 (=17)=5—(-17)=

199+9+(_16): 196—14+(—9):—

20: (—10)—16—(=3)= 20 (—2) — 13+ 7=

ot (=7)—0+17=__ ot 174+ (=13)+ (-12)=
22: 64+3—17= 220 (—14) — (1) 4+ (-15)=__
23 114+84+(-17)= 23 (—20) + (-2)+19=__

21: 17420 — (—11) = 20: 20 — (=16) + (—-17) =
o5 (—11) =11+ (=18) = 25: (=5) — (=17)+(-13) =

007 7 September 2014 7
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Question 15 |25 marks] Question 16 |25 marks]

0: 20+ (—8) —=3=9 0: (—8) — 18 — 17 = -43

. (=16)+3+8=__ 16— (=5)+7T=_

2 (-15)+1+10=___ 2 14+5+10=_

3 15484+ (—4)=__ 3 04+19-5=__

£ 6-13—(-10)=___ 4 24 (—11) - 16 =

o (—12)+0+12=__ 5 (—6)— (=T)—(—20) =
6 9—(-16)—-7T=__ 6 (—18) — (—14) +9 =

7 (=1)—2-0= 7 (—=11)+(-13)+(-3) = —
g (—11) =124+ (-19)= 5 20— (-1)+18=__

9 17— (—6)—9=__ 9 6—10— 14 =

0 (—14)—(=5)—9=___ 0 14— (=5) = (-4)=___

1: 13+ 12+0= 1m: (—=6)—7+10=____

12: (=5) = (=19) +(-14)=__ 122 0—(=11)+19=__

13 10 — 1146 = 13 7—2—(-10)=__

e (=2)— (=) +(-15) = e 9—(=2)+9=___

5 (=9)+5—-19=__ 5 2—1+(-10)=__

16: (—2) 4 (—20) — 1 = 16: 4 —20 — 10 =

17 (=19) — (=14) — (-14)=__ 11 16— (=7) = (=13) =

18 1—3+10= 18 (—11) — (=3)+ (-20) = —
10: (—=9) — (=12) 4 (—8) = 19 (—17) =11 -2 =

20 10— 1+(—16)=__ 20 (—18) — (=3) = (=5) =
o 5— (=5)+20=__ ot (=15)+ (-7)+(-2)=
222 1+7—(=7) = 22: (—14)+ 17+ (-17)=____
203 15+ (—4)+(-14)=_ 23: 7—15—10 =

o0: (=9)+13+(-6)=___ 24 (—11) = (=9)+(-19)=__
25 249+ (=3)=___ 2 (—2) =2+ (=3)=___

007 7 September 2014 8



AddSub-Neg-L3 Set1

Question 17 |25 marks] Question 18 [25 marks]

0: (=9) + (—19) — 16 = -44 0 (—1) =8 —(=T7)=-2

1 2-20—-2=___ 117+ 24 (—20) =

2 U+ (-D)+11l=__ 2 T4+ (=15) - (-17)=
3 (—4)—-5—-14=____ 3 (=19) 17— (-9)=__
4 12— (—4)—18=___ 6 T—(=13)+(-18)=___
5 8+12419=__ 58+ 12— (—13)=__

6 12— (-11)—6=__ 6 15+5—(-17)=

7 204+7-18=__ 1T+ 13—-4=__

s (—=17)+184+19=__ s 17T+ (1) —14=____

9 (=2)—T7T—(-7)= o (m4)+(-17)+5=___
wo: (-14)+(-1)+10=— 10: (=5)+18+(-10)=__
1 (—10) 4 (—18) —12=__ e (1) + (=17 —9=____
12 2—44+11l=_ 122 13-4 —(-12)=__
13:0-18~-2=___ 13 16+ (—6) —(-8) =
14: 20 — (—=16) —12=___ 14: (=5) —(=2) —19 =

15 (—15) 4+ 16 — 11 = 15 (—16) — (=3) 4+ (—8) =

16: 13+ (—17) + (—14) = 6 11 —(-13)-20=

17 (=17 = (=17 4+ (=14) = 12 5—(=18)+(-6)=
18 (=5)+2+14=__ 18 15— (=18)+ (-9)=
19: 3+ (—2)+ 14 = 19: 2+ 14+ 15 =

200 (=3)+ 13+ (-17)= 20 2+ (—13)+(-7) =
ot (—4)—9+14=__ o1: 7T— (=9) — 0=

22: (—11)+7—6= 22: 14+ (=10) +(-10)=
23 10+ (—18) + (—=15) = o3 (—8)+10—14=__
20: 1 +3—4= o0: (—16)+16+16=___

25: 5 —(—12) +(-3) = — 205 (—17)+ (—-17)—-7T=__

007 7 September 2014 9



AddSub-Neg-L3 Set1
Question 19 |25 marks] Question 20 |25 marks]
0: 15+ (—13) +19 = 21 0: (=5) —13+17=-1
1 12-2—-14= L8+ (—-17)+(—-13)=
2 (—6) + (=3) — (—8) = 2 18 — 16+ 7 =
3 (—16) + (—18) + (-10) = — 3 (—6)+18+(-13)=__
£ 34+19—(-5)=__ 4 (-16)+ (-2)+10=__
5 13-1—-11=__ 5 16410 (—15)=
6 17T+6—(-9)=__ 6 12+ (—6)—(-11)=__
.6+ (—6)+15=___ 17T+ (-9)—4=__
s (=7)—4+12=__ g (—7)+1—-16=
9 141 —(-17)= 9 (—13)+134(-4) =
w0: (=4)—(=3)+12=___ w0: 11— (-12)+1=__
1 (=6) = (=2) - — 1 (=6)+ (=) +16=
12 14+ (—=10) — (=17) = 12 (—=15) = (=15) —7T=___
13 (=19) — (=19) = (=1T)= 15 (-2)40—-1=___
1 (=19) — (=16) —11=__ 1 6—-3—(—16)=___
15 204 (—14) 4 (=T) = 15 18— (=) +3=____
16 124 (=5) + (=17) = 16 14— (=16)+0=____
17 (=6) =8+ (=16)= 7 (=1 4 (-12)+0=__
18 5—(=5)+(-20)= 18 15+16+(-13)=_
19 5+12+(-20)= 19: 7—(=3)+3=
20: (—14)+204+10= 20: (=20) +(=9) —(-13)=
ot 144+8—15=____ ot (—14) — (=H)+4=__
2. 2—-134+10=__ 22: 16 — 1 — (—6) =
03 1712 1= 23 13 — (=9) — (—12) =
o0 TH(—11)—(=2)=__ o1 (—12) 4+ (—6) — (=10)=
25 (=3) =3+ (=15) = 25 12—-64+2=__
007 7 September 2014 10
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Setl

Question 21

0:
1:

2:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks]

10-19—(-13)=__
16— (—15)+8=___
20—18—(=5)=___
(—1)+14+6=___
19+ (-3)—8=____

(=7) -
15— 15 — (—11) =

(—20)+14=__

5) 4+ 8 — (—17) =

(-1

(1) +18 -4 =
(=15) = (=

(—4) + (-1
10 + 14 —
(=7) -
(—2) =5+ (—6) =
6+ 20+ (—7) =

D+(-1)=—
6)+(-2)= —
(-19)=__

(-9 +15=___

R24+-11)+(-8) =
(=15) +3+(-6) =

12420 — (—4) =
9+ (—16) + (—10) =
(=8) —4-

(~13)=__

(~1)+5— (-8) =

13-5-0=

10 4 (—10) — (—13) =

18+ (—17) 4+ (—17) =

(—=9) — 10+ (—1) =

Question 22

0:
1:

2:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks|
(—13) + 14 + (~18) = -17
(5T (8=

4—(=3)— (~14) =

(—18)+ (=6)+20=_____

12-14 -4 =

(—13) + 84 (—11) =

18 — (—14) + 18 =
(—4) +
(=9) = (=1) + (=16) =
19— 6 — (—4) =
(=5) —

19-4+3=___

(—12) - (~19) =

(—12) — (=17) =

(=5)+10+4=__
(=9) -
134+ (—2) —

(-13)+10=___
(-17) =

(—15)+5+15=_____

(—=6) +
10417+ (—3) =

(-17)—-19=__

)+ (-2)~15=
14) + (—10) —
()=

)+ (—12) =
)+

19) + 15 + (—16) =
)
(—1

(—
(-
(—12
(— -
(—13)+11+19=______
4y

0) = (=

4+ (-16)+16=____

5) =

4—6—(—4) =

007
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Setl

Question 23

0:
1:
2:

3:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks]
6+ (—10) — 0+ (—18) = -22

(-16)+10+(-")+14=___
13-9+4(-8)—(=9)=___
(=6) =7+ (—6)—18=___
18— (=2)+(-1)—-1=___

184+11-0+14 =

(—12)4+34+(—15)+(—15) =
10-14+1+(-2) =
9)=3+(-4)+
8) —0—3+(—12) =

(~18) =

(-1
(-1
(—4) + (—16) —18+16=________
3— 9+ (—16) — (—15) =

1-10—-(-13) = (-9)=
164+(—-16)—(-12)+(-3) = —
(—11) =

(—19)+13=__

9—11+(-1)— -
5—(—1)+
(=2)+(—20)+13—-18=____

7T+10+0+1=

(—6) — 5+ 20 — (—18) =
(=5) =T+ (=3)+(-13) =
(—6)+13—(—10)+(-3) =
(-

12) +9 — 12 — (—13) =
10-1-19+20=

9—1+(-9)—13=___

12+ (-19)+(-1) -3 =

(—=13) + (=10) + (=5) + (—14) =

Question 24

0:
1:

2:

10:

11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:

24:

25:

25 marks|
(=3) + (=7) — (=5) — 13 = -18

(—14)+44+8-13=__
14 —

9— 14— (—13) =

10+ (=2)4(=15)— (=5) =

(=12) = (=3)+(-13)+2=__
(=8) =10+ (=5)—17=__
(—19)+64+(—11)—(—13) =

(—19)=17+(=3)=(=17) =
n—17-11—-(-19)=__
(=D +(=6)—1-(-15) =

(1) + (1) + (-2) = (-9) =

15)—(=12)—0—(—11) =
15) =17—(=6)+(-3) = ——
10)+(=9) 19— (=7) =

(—
(—
(—
(=5)+12—-14+46 =
(=10)+(=3)+19+17=__
(—12) =104+ (-11)+16=__
(= (—11) =
(— 3)+(-2)+2=__
(— (—14) =

1)—124(-1)+
17) + (=
+1—(-2)+
0—8—(-13)+(-3) =

16— (-7)—(-7)+(-6)= —
9—(=5)+18+(-10) =
3+ (—12)—-16+9 =

(-19) = (-9) -

(—14) — (=14) =

9—(-18)—15—-9=___

007
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Question 25 [25 marks] Question 26  [25 marks
0: 9 — (=16) + (—6) +0 = 19 0: (—=13) — 14 — (=12) — (—8) = -7
L (=12)+(=16)—(=5)+1=_— 1. (=1)—(-5)+0—-11=
2 (—11)=5+1+16= 2 5+ (=16)+1—15=
89— (=17) =20+ (=17) = — 3 (=20)4+2+2—(-14)=____
4 16— (—11) 4 (—20) + 18 = b (=4)—04+20—(=16)=
5 (=16) = (=2) + (=11) + (=8) = 5 (L12)—(~10)+8—18=__
6 19+(—15)+(—6)—(—17) = 6 0= (1) +19 - (=1) = ———
7 1—3—16+ (—19) = matizrld2=
o 1434 (=0)— 0= g (—11)+124+19—(—6) =
9 (=3) +9+(—2)+16 = o 114+18+15+11=_
0 (—19) 4 (=7) — (—10) + (=5) = 18— (-14)-10+18=__
1 (—13) = (—18) +4+16=___
1: 16— (=6)+(—10)+(-18) =, 17 645 1=
258 (=6)—(-1)=—u— G (—13) 416 ()=
(19— (=) -l-2= e
4: 10— (=8)+(-19)—20=__ o 114+ (-9)+11—(=3)=
15: 64+ (—11) =134+ (-15) = o (=3)+ 114204+ (-2) =
to: (8) — (~4) T4 -6= 7 (1) 4+ (=3) - (-8)—9=__
i (—19)+ 174+ (-19)+14=__ 5 17— T4 (—10) — 15 =
w () —m - =—— 19: 17 =15 — (—11) = (=2) =
19: 114 (—6) —2+20 =
20 (=19)+114+15—(=13)=
20 (=17) + (=15) — 14 — (=16) =
21: 3+ 3+ (—19)+ 15 =
o 11+ (—14)+(-7)+12=__ 22 M444—(-16)—(-T)=—
22 (=7)—12411+41=___ 23 (=9)+16—2—(—8)=___
23: 18416 +4—1= o1 (—=12) =645 — (—14) =
2: 12— (—14) = (—4)+4=_— 95 14— (—16)+15+12=
25 O+ (—11)—6—-6=_____
007 7 September 2014 13
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Question 27 |25 marks] Question 28 |25 marks]
0 17— (—19) — 12 — (—1) = 25 0 (—17) =15+ 4+ (=1) = 29
L5+ 14—20-2=_ i (—14) = (=5) = (=9)—0=__

2 (—16) +13 -2 — 12 = 2 13— (=18)+9— (-10)=

5 (—4)—20—(—18)+(=11) = 5 (=20)—4+(—19)—(=5)=__
g (—19)+124134+(=13) = 4 (=15)—(=3)—84(-13) =
5 104+(—=15)—(=10)—(-5) = — 5 (—17)+ 13+ 16+ 8 =
6 12— (=9)=(=9)+(-1)= ——— & (=) — (=15) + (-9) — (3) =
7 194 (=9) — (—17) + 18 =

7 (—6)+2—(—8) —2=__
g (=1) = (=12) = (=8) = (=17) =

s (=7)+(-12)+20-2=___
9. (—=10) — (—=15) —8+1=__ 0. (—=5) —20+15—(—13)=
w0 (12)+7-184+(-9)=__ 10 (1) +16—-(=3)-10=___
1 (—18) — 18+ (—13)+12=__ 11 (=9)+(—12)+(—13)—8 =
12: 11— (=3)+(=7)+13=___ 123 —(—4)—(—-12)+4=_____
13:7—(—6) =20+ (-9)= 13 11— (=20) + 18+ (—14)=
14: (—8)—4+4(—=15)—6=___ 14 (—=11)+(=13)—1—(-8) =
15: (=5) — 64 (—19)+ (1) = 15: 0—(=1) =0+ (—4) =
16: 18 =24+ (=3)+(-3)=— 16: 204+ (—18) —144+6=__
17 124104+ (=7) = (-T) = 17 14-34(-4)—-8=_____

18 8+15—-16+4+14=__

18: 17+ 18 —4 — (—17) =

19: (=18)+(=10)+0—(-12) = 19: 14+19—(—4)+0=

200 34+ 16— (—14) —(-2)= 20 (—17)—(=16)+0—(-2)=

21: 7T—2416—6 =

21: 14+ 134 (-19) —(-10)=

22 4+ 1—(-13)—(—14) = 22: (=2)+5+(=15)+(-15) =
23 5+ (—-11)—4—(-13)= 3 14+13-(-9)+(-1)=__
24: 64+ 17+ (=20)+(=18) = 24 12— (-18)—-20—-13=__
o5 (—19)+19+15—-14=___ o5 (—15) + 11 — (=15)+9=___
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Question 29 |25 marks] Question 30 [25 marks]

0 (—12)4+11—9— (=17) =7 0 (—19)+11+18—-6=4
i (—18) = (=7) =104 (-5) = 124 (-8)—(-1)—17=__
2 114+ (—4) = (-20)+5=__ 2 17—204+(-15)+10=__

5 (—2) — (—4) + 17— 20 =

3 (—11) =84+ (-8)—156=__
4 (=9) — (=12) = (=10) — (-14) = 4 164+12+(-7)+2=

5 12— 20 + (—6) + (—10) =

5 34 (—18)+(—6)—3=___
6 (—19)+15—(—17)+(-9) =
6 12— 6+6— (—4) =

7 (=3)+(=3)— (=17)+20 = 7 14— (=18)—(-9)—(-13) = —

g (—13)+1—(—18)+ 15 =

8 (—20)+ 11416 — (=5) =

0 19— (—12) +4—4 =
9. 1 —(=7) =19+ (—17) =
10: +(—18)+7+2=
10: 174 (=3)+(—18)+(—4) = —
1 (—14) —2— 12— 20 =
1m: 24 7—(—=13)+15=
12210 — (=14) = (=3)—-9=___

122 5—15—(=1)—15=

13 (—=13) + 16+ 12 — 20 =
13: 194+ 1—(—-1)—-17=

14: 174+16—-6—(-8)=
14: (=17) =8 —-0—(—4) = (—8)

15 34 (—12) + 1 — (~16) = 15 (12)+(=5)=(~15) =8 =

6 (1) — 9+ (—14)—10=___ © (=2)+ 18+ (—=15) +14=___

17 13416 + (—9) + 18 = 17: 5+ (—20) + (7)) = ————

18 94+ (=5) — (—19)+14=___ 18 19+ (—11) + 3+ 11 =

0 (=7)—(—11)=54+1=___ 19: 10—12— (—=20) + (-1) =

20: 12 — (—14) = 134+ 15 = 20 (—10) =7~ (=11)+14=__

o (—14) 4+ (=19) — (=14) — 15 = °F §—114+19—-17=__

22 3+13—-6+12 =

23— (-12) =8 = (=20) = — 55 84 (=15)—0—19=
280 14+11—(=5) -6 = 24: (—13)— (—=17)—6+(—1) = _
2. 9410+ (=2) = (-18) = ——— i 6 (-7 —(—10)+ ()=

25i (—1) = (=3) + (~2) + 5 =
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Question 31 |25 marks] Question 32 |25 marks]

0:

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

20:

21:

22:

13 —-18+18 — (—13) = 26 0: 6 — (—=16) — (=10) — (—14) = 46
12— (=20)+18—(—18)=__ 1 17—11+4(=2)—(—14) =
(1) +8+ M+ (-1d) = o (=5)+(—13)+4+(-15) =
20+4+19-8=

(=)= (=6)+9—(-16) = — | 14 (—20)— 19— (—13) =
0+(=8) =20+ (-0)= ——— 5 204 (—11)-19+13=

10+0-18-13 =

T+ (-17)+ 13+ 12 =
(=16)+(=3)+(—10)—16 =

8 12—-2+0—-16 =

(<14)+16— (-12)+3=___
134542~ (—4) =
(—14) = (~1) = (=3) +6 =
(=8) + (=1) + (-=11) — (-14) =

10: 0—(—=6)—(-9)+19=____

11: 6 —0—(—12) + 15 =

(=20) = (=7)—(—=14)—1 = 13 (-14)—-16+12-3=___
12-20+13 -9 =

14: 8+6+(—15)—14=__
(—=15) — (1) — (=11) — (-13) = 15 13—-54+9—-13 =

5 (=5)—(~D)4+1—(-1T)=___

6: 0+(—15)+(-16)+(-5) =
7164+ (—4)—-164+(-20)=__

o (—=15)+14—13—(-12)=___

122 17—=14—-(=-3)—(-2)=

16 124 (—12) + (—=19) —17=____

17 (=3)—(—10)—(—18)+10 =

(—3) + (—6) + 15— 19 =
—1
( 18: (—=13) + (=7) + (=9) — (-16)

2) — (—10) + (=17) + 14 =

20-8-16—(—6)=___

19: 9—(-17)—(-11)—-14=___

18 — (—16) — 0+ 16 =
(=2)4+10—(-12)+(-20) = —
19— (—=17) =0+ 18 =
(-15) — (-2) + (-19) — (-2) =

20:

22:

(—18)
21: (—15) —2—(—18) =5 =
(—19)

+ (=12) + (=6) — (=15)

H(=15)+194+(-9) =

23: 174+0+20—-4 = 23 (=7)+6—(-13)—(-12)=
24 3—6— (—10)+2 = 24 (—12) = (=7)—=5—-15=___
25 (—=7) — 4415+ (—12) = 25: (—1)+(—15)—(-20)—11 =
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